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1 Introduction

In this contribution, we provide our latest simulation results for FDD synchronous link level simulation results.

2 Simulation results
All simulation assumption followed Table 1-4 of [3].

Simulation results of Test 1 are shown in Figure1. From Figure 1, TP70% line represent 70% throughput of maximum achievable throughput of own MCS level, and G70% represent target geometry to achieve TP70%. Also, Rel. TP-2.5dB and Rel. TP0dB represent relative throughput of maximum achievable throughput at geometry -2.5 dB and 0 dB, respectively. From simulation result, the gain of target geometry at TP70 (ΔG70%) is about 0.7 dB. 
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Figure 1.  Simulation results of Test 1 with MCS6 (FDD synchronous)
Simulation results of Test 2 are shown in Figure 2. From simulation result, the gain of target geometry at TP70 (ΔG70%) is about 1.3 dB. 
[image: image2.emf]-8 -6 -4 -2 0 2 4 6

0

1

2

3

4

5

6

7

8

SNR [dB]

T-put [Mbps]

Test 2 MCS11 T-put performance (FDD synchronous)

G

70%

 = [0.543 -0.743] dB, 



G

70%

 = 1.29 dB

Rel. TP

-2.5dB

 = [41.2 51.2] %, Rel. TP

0dB

 = [62.8 81] %

 

 

MMSE

IRC

TP

70%


Figure 2.  Simulation results of Test 1 with MCS11 (FDD synchronous)
Simulation results of Test 3 are shown in Figure 3. From simulation result, the gain of target geometry at TP70 (ΔG70%) is about 1 dB. 
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Figure 3. Simulation results of Test 3 with MCS7 (FDD synchronous)

In Table 1, we present IRC requirements in terms of geometry at [70%] target throughput including impairments for Test 1, Test2 and Test 3 respectively.
Table 1.  Geometry at [70%] target throughput including impairments
	Test point [dB]

	Test 1-MCS6 (FDD)
	-1.31 

	Test 2-MCS11 (FDD)
	0.76 

	Test 3-MCS7 (FDD)
	-0.98 


3 Conclusion

In this contribution, we provide our latest simulation results for alignment and Geometry at [70%] target throughput including implement margin. 
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Table 2.  Numeric results of Test 1 and Test 2

	SNR
[dB]
	Test 1
	Test 2
	Test 3

	
	MMSE
	IRC
	Gain
	MMSE
	IRC
	Gain2
	MMSE
	IRC
	Gain2

	-8
	404453
	982676
	143.0%
	109929
	626512
	469.9%
	405966
	1148418
	182.9%

	-7
	1069182
	1538641
	43.9%
	322918
	1293388
	300.5%
	958022
	1690973
	76.5%

	-6
	1500953
	1846471
	23.0%
	1039606
	2104118
	102.4%
	1570908
	2122152
	35.1%

	-5
	1858106
	2207924
	18.8%
	1724088
	2751241
	59.6%
	2056495
	2487012
	20.9%

	-4
	2384224
	2572918
	7.9%
	2357471
	3379471
	43.4%
	2457738
	2874886
	17.0%

	-3
	2758576
	3090435
	12.0%
	3008888
	3872435
	28.7%
	2892085
	3436411
	18.8%

	-3
	2962194
	3515376
	18.7%
	3246353
	4039906
	24.4%
	3153135
	3800675
	20.5%

	-2
	3352988
	3889729
	16.0%
	3595035
	4326324
	20.3%
	3436292
	4194507
	22.1%

	-1
	3952459
	4392829
	11.1%
	4214247
	5219071
	23.8%
	4142601
	4880632
	17.8%

	0
	4469218
	4603782
	3.0%
	4954553
	6384494
	28.9%
	4802148
	5287967
	10.1%

	1
	4610612
	4641724
	0.7%
	5993300
	7336929
	22.4%
	5218597
	5427312
	4.0%

	2
	4644000
	4644000
	0.0%
	7011006
	7726406
	10.2%
	5404697
	5452666
	0.9%

	3
	4644000
	4644000
	0.0%
	7506976
	7859524
	4.7%
	5447376
	5455888
	0.2%

	4
	4644000
	4644000
	0.0%
	7884000
	7884000
	0.0%
	5456496
	5456800
	0.0%

	5
	4644000
	4644000
	0.0%
	7884000
	7884000
	0.0%
	5456800
	5456800
	0.0%

	6
	4644000
	4644000
	0.0%
	7884000
	7884000
	0.0%
	5456800
	5456800
	0.0%

	G70 [dB]
	-2.13
	-2.81
	0.68
	0.54
	-0.74
	1.29
	-1.46
	-2.48
	1.02

	Rel. T-put-2.5
	63.8%
	75.7%
	
	41.2%
	51.2%
	
	57.8%
	69.7%
	

	Rel. T-put0.0
	96.2%
	99.1%
	
	62.8%
	81.0%
	
	88.0%
	96.9%
	


